
 Ionic interactions

 F= (q1 q2)/(d
2 e)

 e the dialectric (water 85)

 Weak in water << -kcal/mol

 Van der Waales

 Lennard-Jones potential

 F = D0[ (Req/R)12 - 2(Req/R)6]

 1.3 kcal/mol/CH2

 Hydrogen bond

 Vapor phase about -6 kcal/mol

 Water about -0.5 to -1.5 kcal/mol

 F = D0[5(Req/R)12 - 6(Req/R)6]cos2(DHA)







Pro CCA to GAC is 3 mutations but CCC to GAC is only 2 Mutations
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PCR mutagenesis example 1





C-term

N-term

63-66 loop



Propeller with Ni coating

Biotin

Avidin
Nickel Pillar



Peptide synthesis

Understand coupling yields

Example of 20 mer

1. Starting with 2 micromole of beads

2. coupling efficiency 97%

Yield = 2*(.97)19 = 1.12 micromoles


